Vectors Worksheet Day 2 Name: Date: Period:

Prove that RS and W) are equivalent by showing that the represent the same vector.

( 1. R=(-4,7), S=(-1,5), P=(0.0), and Q = (3, -2)
Rs =i, §210= 3,735/
PG = 2-0,-20) > {3,
2. 22R=(7,-3), S=(4,-5), P=(0,0), and Q =(-3, -2)
'E; =<q-'7) -$4+3) .-.-<-5, oD /
—b
PR = £3-0,-5-0% = {-3,-3D

LetP=(-2,2), OQ=(3,4), R=(-2,5), and S = (2,8). Find the component form and magnitude of the vector.

5. 7 =439, #H 3> 6,85
1Fal = &%= ere =oq

A= Lawe, s> =H, 3D

( |_§l V537 Yiera = Yor = &

23 54D = 5,10

‘ 5;_’1 - g‘;,"ﬁ: gS'-r'l = m

6. 2QS = a<2-3) P-4>28L1,4D¢ <-:'t F>
(53 N gs ~ Yrew =Nevw

7. 3QR+PS * 3<;'S, 1> o+, 8-2) = 351D +4, 6D
=<"503> +<‘4.~('>
=<-u, @
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Letu={(—1,3),v=(2,4), w=(2,=5). Find the component form of the vector.

g utv 9. u—-w
Clid> #4245 {13>®L2,75> (
"<l/_7> ':<—;"5J S’>
10. 2u + 3w 11. -2u-3v
3("; 3>+ 3<2c'5> -2 7, 3>"“3<2l4>

: {-9,6) e 15> =LA4,7T>  =45,7e) K, 13> =418

Letu=<2,—-5> v=<3,7>agndw=<-1, 6>. Find each specified vector or scalar.

12. 4w —2v + 3u

4,6 ~34-3,75+3<2,-5>
= {-4,04> =&, D> +Lb15 D> F<E, "8 D

320l ~Qm s —9L 2,8 =&, 10>

\—a:‘ = ng"—l)’}lo? = ~\l(.,'-ﬂé‘ o m - 3‘6; (

14 flw—uf] = l(—u,b) - {3,"s| = ‘4"5, >

= “Téa‘ut—"_" W i

15. lu—w|| = 143‘-5>_<-|,L)( = l <3"Il>\
= {3"* (-1y? :\Efﬂ( =\ 130




Vectors Day 1 Assignment

Name: Date: Period:

( "~ Listed below are the initial points and endpoints for vectors u and v.

Sketch the vectors.

Write each vector in component form.
Find the magnitude of the vectors.

a Vector Initial Point End Point
u (-1,2) (4,6)
v (0,0) 54
i T L, poR> S, 4
2 ;T {5<06,%9" -0y = -84
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Initial Point

End Point
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Sketch each vector as a position vector and find ils magnitude.

2. av=<1-1> b.v=<5-22>
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Let v be the vector from initial point Py to terminal point P. Write v in component form.

3. By=(4 -4, Pa=(6.2)

V=<brd, 244> = 0, 0 >

4 Pi=(7,-4), Pr=(0,2)

N = {ov1, 24D = £7,8>
5. P1=(-3,4),P,=(6,4)

It <L+3,4-4> = £9,67
6; Pi={4 -5} Ps=43)

V=44, 3r5> =<0, 8>

7- P] = (_8: 6)5 P2= (-2: 3)

V= &arg, 30> =<3
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